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QUESTION 1

When designing a load-balanced vRealize Operations cluster, which three aspects should an architect consider?
(Choose three.) 

A. Maximizing node participation in the handling of UI sessions and traffic 

B. Providing high availability if any admin or data node fails 

C. Reducing the number of certificates that must be managed for the nodes 

D. Minimizing node latency in the handling of UI sessions and traffic 

E. Simplifying the configuration of End Point Operations (EPOps) agents 

F. Providing fault tolerance if any admin or data node fails 

Correct Answer: BDE 

 

QUESTION 2

An architect is designing a private cloud solution for an organization and has been given the following 

information: 

The organization already has a VMware Workspace ONE Access 3.3.2 cluster with external MSSQL 

server for their existing virtualized desktop environment. 

Due to budget constraints, wherever possible, the architect needs to reuse the existing environment. 

What should the architect recommend as an authentication solution for the private cloud? 

Note: VMware Identity Manager has been renamed as VMware Workspace ONE Access. 

A. The existing instance can be reused as authentication provider for the private cloud but maintained outside of
vRealize Lifecycle Manager. 

B. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager but do not reuse it for the
authentication purposes. 

C. Deploy a new instance of Workspace ONE Access cluster using vRealize Suite Lifecycle Manager and use it for
authentication. 

D. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager and reuse it for the
authentication purposes. 

Correct Answer: B 

 

QUESTION 3
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An organization that extensively uses vRealize Orchestrator workflows for vRealize Automation 

integrations has the following challenges: 

Each VM provisioning request executes 50 workflows for integration with various third-party tools. 

Many developers from different teams, unaware of each other\\'s work, create and maintain the workflows. 

Whenever vRealize Automation VM deployments fail, a lot of time and resources are spent debugging 

failures. 

Which cloud management product will help speed up the organization\\'s troubleshooting effects? 

A. vRealize Operations Manager 

B. vRealize Suite Lifecycle Manager 

C. vRealize Log Insight 

D. vRealize Network Insight 

Correct Answer: C 

 

QUESTION 4

The operations team is onboarding new interns in Active Directory. The interns need to work in the company\\'s
vRealize Operations environment while maintaining corporate security compliance. The intern Active Directory group
should only have PowerUser role to a specific vCenter cluster and ReadOnly for all other objects. 

Which option would meet the requirements? 

A. Create new Active Directory accounts and import the intern user accounts. Create a new role for the interns and
assign appropriate permissions on objects. 

B. Add the interns to a new vRealize Operations Active Directory Group. Import the Active Directory group and grant
access to relevant objects and all actions for the specific vCenter cluster. 

C. Add the interns to the existing vRealize Operations administrators Active Directory group and grant access to
relevant objects and all actions for the specific vCenter cluster. 

D. Create a new Active Directory group for interns. Synchronize intern Group, create a new role for the interns and
assign appropriate permissions on objects. 

Correct Answer: A 

 

QUESTION 5

A customer will use their vRealize Automation solution to provision and manage both production and development
workloads. 

During workshops, the customer has communicated the following information about the environment: 
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The production and development workloads are deployed to separate vCenter Servers. 

Three different user groups have been identified for access to the solution: Application Developers, 

Application Owners, and Infrastructure Operators 

The customer has communicated the following requirements: 

Only Application Owners and Infrastructure Operators may be permitted to deploy production workloads. 

A limit should be applied to the number of development workloads concurrently deployed by each user 

type. 

Application Owners must not be able to view or modify another user\\'s deployment(s). 

In addition to the creation of separate Production and Development Cloud Zones, which three design 

decisions meet the requirements? (Choose three.) 

A. Add the Application Owners and Infrastructure Operators groups to the production project. 

B. Define a Cloud Assembly project for each user group. 

C. Define a Cloud Assembly project for production and another for development. 

D. Define an instance limit for projects using the development Cloud Zone. 

E. Define a priority of 0 for the production Cloud Zone in the project used by Application Developers. 

F. The deployment sharing option should be turned off for the Application Owners project. 

Correct Answer: BDE 
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